
This suggests a Phi:Pi space-time equivalence is suffused in
the wave:particle folding of the Double-Helix DNA molecule.

The Pythagorean Comma passes through Phi at step 12.618...     
A circle’s diameter to its circumference is Pi ‘π’ 3.1415....
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Here are 4 hypotheses; [1] Squaring the circle with Phi 
[2] Hz derivation of Phi from the Pythagorean Comma 
[3]‘Equivalence’ of Phi [wave]:Pi [Particle] arising as 
[4] Phi:Pi folding in double-helix DNA molecule.

Pi = 3.141592653589793..............
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